Solutions sheet No. 101

Sine Ratio
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Find the value of the pronumerals in each of the following, correct to 1 dec. pl. where necessary;





18 





31°50’





e





750 





48°16’





d





35





35°41’





b





600





37°32’





a





62 





22°47’





c





8.25





68°40’





h





45 





64°14’





j





900





41°50’





i





480 





25°39’





g





350





37°45’





f





280 





59°55’





k





65





48°28’





n





250





38°57’





m





205 





34°35’





p





950





l





68°5’





75





61°17’





t





1525 





73°35’





q





s





70°14’





6000





345 





63°24’





u





1500





54°13’





r








